OaHo4YneH

[Ipe3eHTaumIo BbINOHANA:
becena KatepuHa 7 «b»



O1H04/1eH- TPOU3BEACHUE YUCEH
U UX CTENEHEMN,

al38s 123 344a xk ga“ 0
-0,7x y?



Ho He Bce aJiredopanyeckKue
BhIPA:KEeHNA SABJIASIOTCH
OAHOYJICHOM:

a+b % 5s3+7b2%-8

S| Q



CtaHAapTHbLIUM BMA, O4HOYJIEHA-
npounsBeseHue YNCNEeHHOro
MHOXMUTenNA n cTeneHeun
PA3/IMYHbIX NEepeMEeHHbIX.

_Za*za*3b*b=(-2*2*3 )*(a*a*b*b)=
= -12a2b?
7a*3b*4c=84abc



CnhoxxeHue U BblYUTaAHUE
04HOY/1EHOB

2y+8,5y=10,35y
2 9xy 11xy2-9 9xy

5
—m+§m —m+—m —m 0,9m



YMHOXeHue oaAHO4Y/IEHOM.
Bo3BegeHue oaHo4Y/1eHa B
HaTypaJ/ibHYIO CTeneHb.

-b>*0,9b”=-0,9b 2
41c2d*( -4cd)=-164c3d?



/leneHne ogHO4YJIeHOB.

Bo3BepeHne OaHo4YNneHOB B
CTeneHb.

(10a%y)**(3ay?)3=100a*y**27a3y®
=2700a’y®

6,5xz : (-1,3z)=5,2x



